
Answers for Y6 Maths (wb 27.04.20) 

Morning Mental Maths 

 

Monday 

No answers required 

Tuesday 

No answers required 

Wednesday 

No answers required 

Thursday 

Fluency 

1. 150 

2. 270 

3. 176 

4. 175 

5. 310 

6. 560 

7. 1%=3 so 100% = 300 

8. 1%=4 so 100% = 400 

9. 1%=8 so 22% = 176 

10. 1%=3 so 72% = 216 

Reasoning 

R1: 

“You would need to calculate 10% and then using this to find 100%. So calculate 40÷4 = 

10%, then 10%x10 = 100%.” 

R2: 

“10% of 55 is 5.5 -  you cannot have 0.5 of a vote/person, therefore this is incorrect.” 

 



Problem Solving 

10% = 32 

50% = 10%x5 so 32x5 = 160 

 

Friday 

Reasoning 

40 out of 80 = 50% (half marks) so Hassan achieved a higher score. 

 

Problem Solving 

P1: 

15 out of 60 = 25% 

60÷15 = 4 

100÷4=25 

P2: 

75% (18 out of 24) 

P3: 

7 out of 20 = 35% 

1 cube is 100%÷20=5% 

7 black cubes is 5% x 7 = 35% 

 

Dive Deeper 

Grapes = 30% and Apple = 25% - there is a difference of 5%. 

This 5% is worth 20 children. 

If 5%=20, then 100% = 20x20=400 children 


